
GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  1 1  2 2

L i m b u s F l o o r  S o f t



GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

S E

S E

E N

E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  1 1  2 2

L i m b u s F l o o r  S o f t

Tighten the screws as shown to secure the legs to the screen. 
Note! The screw holes are discreetly cut in the fabric. Observe 
/ feel for the hole before you start screwing.

T H I S  P A C K A G E  C O N T A I N S :
1. A floor screen
2. Two legs (plain or angular leg)
3. The plain legs have 2 screws with skull M6x26 mm + 

2 screws. 
The angular legs have 2 M6x30 mm stud screws + 
4 screws

Vi rekommenderar att du följer våra monteringsanvisningar för att säkerställa att din möbel från Glimakra of Sweden varar 

i många år. / We recommend to follow our assembly instructions to ensure that your Glimakra of Sweden furniture lasts for 

many years.

Skruva i skruvarna enligt bild för att fästa benen i skärmen. 
Obs! Skruvhålen är diskret snittade i tyget. Se / känn efter var 
hålet finns innan du börjar skruva.

D E T  H Ä R  P A K E T E T  I N N E H Å L L E R :
1. En golvskärm
2. Två ben (enkelben eller vinkelben)
3. Enkelbenen har 2 st skruv med skalle M6x26 mm + 

2 st skruvhattar.  
Vinkelbenen har 2 st M6x30 mm pinnskruv +  
4 st skruvhattar


